MANATEE COUNTY GOVERNMENT INTENT TO AWARD

SUBJECT	SR64@57 th St East and Morgan Johnson Road, Intersection Improvements, Project No.:6086360 FDOT Financial Project ID: No. 429871-1-58-01	DATE POSTED	MC 11/4/15 XSE DS 11/4/15 XSE CC N/A
PURCHASING REPRESENTATIVE	Olga Valcich, Ext 3055	DATE CONTRACT SHALL BE AWARDED	
DEPARTMENT	Public Works Department	CONSEQUENCES IF DEFERRED	
SOLICITATION	IFB#15-2828-OV	AUTHORIZED BY DATE	Melissa Wender ,2015

NOTICE OF INTENT TO AWARD

Notice of Intent to Award, Invitation for Bid #15-2828-OV, SR 64@ 57th St East and Morgan Johnson Road Intersection Improvements, Bradenton, FL (Project No.:6086360) to the lowest, responsive, responsible bidder, Florida Safety Contractors, Inc., Tampa, FL for a total base bid of \$264,833.66 based on a completion time of 240 calendar days.

ENABLING/REGULATING AUTHORITY

Federal/State law(s), administrative ruling(s), Manatee County Comp Plan/Land Development Code, ordinances, resolutions, policy.

Manatee County Code of Laws

BACKGROUND/DISCUSSION

This project is a Local Agency Project (LAP) funded by FDOT Financial Project ID No.: 429871-1-58-01 and required prior approval of the bid and contractor by FDOT. The Work consists of widening Morgan Johnson Road (57th Street East) @ SR64, enclosing the drainage ditch, storm sewer construction and modifications to the traffic signals at SR64 in order to accommodate dual left hand turning movements and a combined through right hand turning movement. Also included in this Scope of Work is milling and resurfacing of the intersection and roadway.

Appropriate Bid procedures were followed. Notice of Bid availability was advertised on mymanatee.org, DemandStar and the Manatee Chamber of Commerce.

Background discussion continued on Page 2.

ATTACHMENTS: (List in order as attached)	 Department Recommendation Tabulation 	FUNDING SOURCE (Acct Number & Name)	Funds Verified 3046086360-534000- 6086360-0004, FDOT LAP and Local Option Gas Taxes
COST	\$264,833.66	AMT/FREQ OF RECURRING COSTS (Attach Fiscal Impact Statement)	N/A

Page 2

IFB#15-2828-OV, SR64@57th St East and Morgan Johnson Road, Intersection Improvements, Project No.:6086360 - FDOT Financial Project ID: No. 429871-1-58-01

Bid Offers	(240 Calendar Days)
Hillsborough County Florida Safety Contractors, Inc. Tampa, FL Manatee County	\$264,833.66
Superior Asphalt, Bradenton, FL	\$367,141.56
Gator Grading & Paving Palmetto, FL	\$349,653.21
Westra Construction Palmetto, FL	\$396,892.48

On November 3, 2015, a memorandum from FDOT and Project Management Division was received recommending award to Florida Safety Contractors, Inc., Tampa, FL the lowest responsive, responsible bidder for a **total base bid of \$264,833.66 based on a completion time of 240 calendar days.**

Olga Valcich

From:

Abraham, Jobin < Jobin. Abraham@dot.state.fl.us>

Sent:

Tuesday, November 03, 2015 11:09 AM

To:

Michael Sturm

Cc:

Olga Valcich; Barbara Green; Reed, Charles R.

Subject:

RE: 429871-1 Manatee County / 57th Street East @ SR 64 (Morgan Johnson Rd) -

Recommendation for Award

Attachments:

429871-1 Manatee County - SR 64 and Morgan Johnson Rd - Recommendation Letter

& Bid Tabulation.pdf

Good Morning Mike,

I have reviewed the County's request to award and bid tabulation summary sheet. I concur with the County's recommendation to award to the lowest responsible bidder, Florida Safety Contractors, Inc. Please proceed with the next step in the award process. Also, please ensure all documents are uploaded into LAPIT.

Should you have any questions, please feel free to contact me.

Thank you,

Jobin C. Abraham

Local Program Coordinator
Program Management Office | District One
Florida Department of Transportation
801 North Broadway Avenue Bartow, Florida 33830
Phone: (863) 519-2324 | Fax: (863) 534-7179
Email: jobin.abraham@dot.state.fl.us



From: Michael Sturm [mailto:Michael.Sturm@mymanatee.org]

Sent: Tuesday, October 27, 2015 1:37 PM

To: Abraham, Jobin

Cc: Olga Valcich; Reed, Charles R.

Subject: RE: 431020-1 Manatee County / Gulf @ Marina Dr. - Recommendation to Award

Jobin, please see attached.

Thanks,

Mike

Michael L. Sturm, P.E. Project Manager Manatee County Public Works 1022 26th Avenue East Bradenton, Florida 34206-3926

Proceed WAWARD based ONF DOT APPROVAL 13/15

941-708-7450 ext. 7332 Cell 941-256-6722 Fax 941-708-7549 Michael.sturm@mymanatee.org

From: Abraham, Jobin [mailto:Jobin.Abraham@dot.state.fl.us]

Sent: Tuesday, October 27, 2015 11:48 AM

To: Michael Sturm

Cc: Olga Valcich; Reed, Charles R.

Subject: RE: 431020-1 Manatee County / Gulf @ Marina Dr. - Recommendation to Award

Good Morning Mike,

Per our conversation, the recommendation for award will need to be resubmitted on official County letterhead. I've attached a sample recommendation letter the County used on a previous project for you to use as an example.

Should you have any questions, please feel free to contact me.

Thank you,

Jobin C. Abraham

Local Program Coordinator
Program Management Office | District One
Florida Department of Transportation
801 North Broadway Avenue Bartow, Florida 33830
Phone: (863) 519-2324 | Fax: (863) 534-7179
Email: jobin.abraham@dot.state.fl.us



From: Michael Sturm [mailto:Michael.Sturm@mymanatee.org]

Sent: Thursday, October 22, 2015 10:03 AM

To: Reed, Charles R.; Abraham, Jobin

Cc: Olga Valcich

Subject: Recommendation for Award

Charles, Jobin, attached please find the recommendation for award associated with the SR 64 and 57th Ave E project. The second spreadsheet has the consultants cost estimate embedded in in for your use.

Thanks,

Mike

Michael L. Sturm, P.E. Project Manager Manatee County Public Works 1022 26th Avenue East Bradenton, Florida 34206-3926 941-708-7450 ext. 7332 Cell 941-256-6722 Fax 941-708-7549 Michael.sturm@mymanatee.org

MEMORANDUM

To:

Melissa M. Wendel, CPPO, Purchasing Official

From:

Jeff Streitmatter III, P. E., Project Management

Division Manager

Date:

October 27, 2015

Subject:

SR 64 at 57th Street East (Morgan Johnson Road)

Florida Safety Contractors, Inc.

Recommendation for Award - IFB#15-2828-OV

The bids for the above referenced project have been reviewed by staff. The bid tabulation form is attached for your review. It is recommended that the contract Bid with a construction time of 240 Days be awarded to the lowest responsive, responsible bidder, Florida Safety Contractors, Inc. in the amount of \$264,833.66 and in accordance with the terms and conditions of the bid package. Upon completion of project award, please provide a copy of the purchase order assigned to the contractor. The funding source for this contract is FDOT LAP and Local Option Gas Taxes.

Please contact Michael L. Sturm, P.E., Project Manager, if you have any questions regarding the attached documents.

Thank you for your continued assistance.

JS/ms

CC:

Ron Schulhofer, Director, Public Works

Sia Mollanazar, P.E., Deputy Director, Engineering Services

Michael L. Sturm, P.E., Project Manager

Project File: 6086360 9.2

Public Works Department
Project Management Division
1022 26th Avenue East, Bradenton, FL 34208-3926
Phone number: (941) 708-7450

IFB# 15-2828-OV

SR 64 @ 57TH St East and Morgan Johnson Road Intersection Improvments

		Florida Safety Contractors, Inc.		Superior Asphalt, Inc.		Gator Grading & Paving, LLC		Westra Construction Corp.				
PAY ITEM NO.	FDOT ITEM NUMBER	DESCRIPTION	TOTAL PROJECT QTY.	UNITS	BID PRICE PER UNIT	TOTAL BID PRICE (\$)	BID PRICE PER UNIT (\$)	TOTAL BID PRICE (\$)	BID PRICE PER UNIT (\$)	TOTAL BID PRICE (\$)	BID PRICE PER UNIT	TOTAL BID PRICE (\$)
		ROADWAY										
1.	0101-1	Mobilization	1.00	LS	\$22,500.00	\$22,500.00	\$57,410.00	\$57,410.00	\$33,000.00	\$33,000.00	\$157,850.00	. \$157,850.00
2.	0102-1	Maintenance of Traffic	1.00	LS	\$11,900.00	\$11,900.00	\$38,300.00	\$38,300.00	\$33,000.00	\$33,000.00	\$4,100.00	\$4,100.00
3.	0102-14	Traffic Control Officer	40.00	MH	\$50.00	\$2,000.00	\$67.00	\$2,680.00	\$85.00	\$3,400.00	\$57.00	\$2,280.00
4.	0102-60	Work Zone Sign	1,980.00	ED	\$0.40	\$792.00	\$0.40	\$792.00	\$0.35	\$693.00	\$0.35	\$693.00
5.	0102-74-1	Barricades (Types I, II, VP & Drum)	3,285.00	ED	\$0.25	\$821.25	\$0.25	\$821.25	\$0.35	\$1,149.75	\$0.20	\$657.00
6.	0102-74-2	Barricades (Type III)	105.00	ED	\$0.55	\$57.75	\$0.45	\$47.25	\$0.70	\$73.50	\$0.40	\$42.00
7.	0102-76	Advanced Warning Arrow Panel	15.00	ED	\$10.00	\$150.00	\$10.25	\$153.75	\$27.00	\$405.00	\$9.20	\$138.00
8.	0102-77	High Intensity Flashing Light	540.00	ED	\$0.80	\$432.00	\$0.50	\$270.00	\$0.70	\$378.00	\$0.45	\$243.00
9.	0102-99	Changeable Variable Message Sign	180.00	ED	\$15.00	\$2,700.00	\$19.25	\$3,465.00	\$34.00	\$6,120.00	\$17.00	\$3,060.00
10.	0104-18	Inlet Protection System	3.00	EA	\$120.00	\$360.00	\$1,245.00	\$3,735.00	\$125.00	\$375.00	\$11.25	\$33.75
11.	0110-1-1	Clearing & Grubbing	1.00	LS	\$14,500.00	\$14,500.00	\$22,100.00	\$22,100.00	\$45,000.00	\$45,000.00	\$25,300.00	\$25,300.00
12.	0120-1	Regular Excavation	64.00	CY	\$39.00	\$2,496.00	\$256.00	\$16,384.00	\$170.00	\$10,880.00	\$29.50	\$1,888.00
13.	0120-6	Embankment	164.00	CY	\$39.00	\$6,396.00	\$91.00	\$14,924.00	\$35.00	\$5,740.00	\$37.00	\$6,068.00
14.	0160-4	Stabilization Type B	499.00	ŚY	\$28.00	\$13,972.00	\$32.60	\$16,267.40	\$22.00	\$10,978.00	\$15.00	\$7,485.00
15.	0285-709	Base Optional Group 9 (6" Type B)	404.00	SY	\$56.00	\$22,624.00	\$45.65	\$18,442.60	\$51.00	\$20,604.00	\$51.90	\$20,967.60
16.	0327-70-6	Milling Existing Pavement (1.5")	1,826.00	SY	\$7.50	\$13,695.00	\$6.45	\$11,777.70	\$9.00	\$16,434.00	\$7.30	\$13,329.80
17.	0314-1-14	Superpave (Traffic D)	34.00	TN	\$225.00	\$7,650.00	\$198.50	\$6,749.00	\$212.00	\$7,208.00	\$226.00	\$7,684.00
18.	0337-7-45	Friction Course FC-12.5 (1 1/2")	184.00	TN	\$175.00	\$32,200.00	\$156.50	\$28,796.00	\$177.00	\$32,568.00	\$178.00	\$32,752.00
19.	0425-1-361	Inlets (Curb) (Type P-6)(<10')	1.00	EA	\$4,000.00	\$4,000.00	\$6,500.00	\$6,500.00	\$5,000.00	\$5,000.00	\$4,600.00	\$4,600.00
20.	0425-1-451	Inlets (Curb) (Type J-5)(<10')	1.00	EA	\$8,000.00	\$8,000.00	\$5,060.00	\$5,060.00	\$7,000.00	\$7,000.00	\$5,550.00	\$5,550.00
21.	0425-1-541	Inlet (DT Bot) (Type D)(<10')	1.00	EA	\$3,800.00	\$3,800.00	\$4,725.00	\$4,725.00	\$7,000.00	\$7,000.00	\$3,650.00	\$3,650.00
22.	0425-2-41	Manhole (P-7) (<10')	2.00	EA	\$4,500.00	\$9,000.00	\$4,725.00	\$9,450.00	\$4,500.00	\$9,000.00	\$3,900.00	\$7,800.00
23.	0430-175-118	Pipe Concrete Culvert (18" SS)	133.00	LF	\$95.00	\$12,635.00	. \$72.00	\$9,576.00	\$66.00	\$8,778.00	\$93.50	\$12,435.50
24.	0430-175-124	Pipe Concrete Culvert (24" SS)	4.00	LF	\$300.00	\$1,200.00	\$195.00	\$780.00	\$700.00	\$2,800.00	\$95.00	\$380.00
25.	0430-175-130	Pipe Concrete Culvert (30" SS)	16.00	LF	\$180.00	\$2,880.00	\$95.00	\$1,520.00	\$360.00	\$5,760.00	\$102.00	\$1,632.00
26.	0520-1-10	Curb & Gutter (Type F)	334.00	LF	\$18.00	\$6,012.00	\$18.00	\$6,012.00	\$32.00	\$10,688.00	\$24.50	\$8,183.00
27.	0522-1	Sidewalk Concrete (4" Thick)	139.00	SY	\$36.00	\$5,004.00	\$36.50	\$5,073.50	\$68.00	\$9,452.00	\$43.00	\$5,977.00
	0522-2	Detectable Warnings	28.00	SF	\$26.00	\$728.00	\$40.00	\$1,120.00	\$32.00	\$896.00	\$34.00	\$952.00
29.	0570-1-2	Turf Complete (Sodding) (Addendum #2)	409.00	SY	\$4.00	\$1,636.00	\$2.80	\$1,145.20	\$13.00	\$5,317.00	\$2.20	\$899.80
		SUBTOTAL (ROADWAY ONLY)				\$210,141.00		\$294,076.65		\$299,697.25		\$336,630.45

IFB# 15-2828-OV

SR 64 @ 57TH St East and Morgan Johnson Road Intersection Improvments

	SK 04 @ 57 in St East and Morgan Johnson Road Intersection Improvments											
					Florida Safety (Contractors, Inc.	Superior A	sphalt, Inc.	Gator Grading	& Paving, LLC	Westra Cons	truction Corp.
PAY ITEM NO.	FDOT ITEM NUMBER	DESCRIPTION	TOTAL PROJECT QTY.	UNITS	BID PRICE PER UNIT	TOTAL BID PRICE (\$)	BID PRICE PER UNIT (\$)	TOTAL BID PRICE (\$)	BID PRICE PER UNIT	TOTAL BID PRICE (\$)	BID PRICE PER UNIT	TOTAL BID PRICE (\$)
		SIGNALIZATION					45 45 52 (20)	A BULL TO S				
32.	630-2-11	Conduit (F&I) (Open Trench)	196.00	LF	\$18.99	\$3,722.04	. \$6.70	\$1,313.20	\$13.00	\$2,548.00	\$6.80	\$1,332.80
33.	630-2-12	Conduit (F&I) (Directional Bore)	70.00	LF	\$31.94	\$2,235.80	\$18.90	\$1,323.00	\$18.00	\$1,260.00	\$19.30	\$1,351.00
34.	0632-7-1	Cable (Signal) (F&I)	1.00	PI	\$4,515.33	\$4,515.33	\$2,190.00	\$2,190.00	\$2,200.00	\$2,200.00	\$2,240.00	\$2,240.00
35.	635-2-11	Pull Boxes (F&I)	4.00	EA	\$735.42	\$2,941.68	\$695.00	\$2,780.00	\$660.00	\$2,640.00	\$710.00	\$2,840.00
36.	0646-1-11	Aluminum Signal Pole (F&I) (Pedestal)	2.00	EA	\$1,307.89	\$2,615.78	\$1,500.00	\$3,000.00	\$1,200.00	\$2,400.00	\$1,535.00	\$3,070.00
37.	0650-1-311	Traffic Signal (F&I) (3 Section 1 Way)	2.00	AS	\$1,026.22	\$2,052.44	\$1,055.00	\$2,110.00	\$1,100.00	\$2,200.00	\$1,080.00	\$2,160.00
38.	0650-1-511	Traffic Signal (F&I) (5 Section 1 Way)	2.00	AS	\$1,699.74	\$3,399.48	\$1,725.00	\$3,450.00	\$2,000.00	\$4,000.00	\$1,760.00	\$3,520.00
39.	0653-191	Pedestrian Signal (F&I) (LED Countdown)	2.00	AS	\$700.60	\$1,401.20	\$585.00	\$1,170.00	\$1,100.00	\$2,200.00	\$595.00	\$1,190.00
40.	0665-1-11	Pedestrian Detector (F&I)	2.00	EA	\$239.58	\$479.16	\$195.00	\$390.00	\$310.00	\$620.00	\$200.00	\$400.00
41.	0670-5-411	Traffic Controller Assembly (Modify)	1.00	AS	\$1,470.83	\$1,470.83	\$1,670.00	\$1,670.00	\$3,500.00	\$3,500.00	\$1,705.00	\$1,705.00
42.	0690-10	Remove Traffic Signal Head Assembly	3.00	EA	\$64.06	\$192.18	\$28.00	\$84.00	\$200.00	\$600.00	\$28.50	\$85.50
43.	0690-20	Remove Pedestrian Signal Assembly	2.00	EA	\$64.06	\$128.12	\$22.00	\$44.00	\$500.00	\$1,000.00	\$22.75	\$45.50
44.	0690-31	Remove Signal Pedestal	2.00	EA	\$512.50	\$1,025.00	\$112.00	\$224.00	\$200.00	\$400.00	\$110.00	\$220.00
45.	0690-70	Remove Detector Pedestrian Assembly	2.00	EA	\$32.03	\$64.06	\$28.00	\$56.00	\$500.00	\$1,000.00	\$28.50	\$57.00
46.	0690-90	Remove Cabling and Conduit	1.00	PI	\$512.50	\$512.50	\$555.00	\$555.00	\$600.00	\$600.00	\$570.00	\$570.00
47.	0690-100	Remove Miscellaneous Signal Equipment	1.00	PI	\$1,025.00	\$1,025.00	\$556.00	\$556.00	\$600.00	\$600.00	\$570.00	\$570.00
No. of the last of		SUBTOTAL (SIGNALIZATION ONLY)				27,780.60		20,915.20		27,768.00		21,356.80

IFB# 15-2828-OV

SR 64 @ 57TH St East and Morgan Johnson Road Intersection Improvments

					Florida Safety (Contractors, Inc.	Superior A	sphalt, Inc.	Gator Grading	g & Paving, LLC	Westra Cons	truction Corp.
PAY ITEM NO.	FDOT ITEM NUMBER	DESCRIPTION	TOTAL PROJECT QTÝ.	UNITS	BID PRICE PER UNIT	TOTAL BID PRICE (\$)	BID PRICE PER UNIT	TOTAL BID PRICE (\$)	BID PRICE PER UNIT (\$)	TOTAL BID PRICE (\$)	BID PRICE PER UNIT	TOTAL BID PRICE (\$)
1.0		SIGNING & MARKING										
50.	0700-1-5	Single Post Sign (Relocate)	2.00	AS	\$252.79	\$505.58	\$250.00	\$500.00	\$100.00	\$200.00	\$260.00	\$520.00
51.	0706-3	Reflective Pavement Markers	44.00	EA	\$5.62	\$247.28	\$5.60	\$246.40	\$5.00	\$220.00	\$5.70	\$250.80
52.	710-11-121	Solid Traffic Stripe, Paint (White 6")	836.00	LF	\$0.57	\$476.52	\$0.60	\$501.60	\$1.40	\$1,170.40	\$0.55	\$459.80
53.	0710-11-122	Solid Traffic Stripe, Paint (White 8")	214.00	LF	\$0.84	\$179.76	\$0.85	\$181.90	\$2.00	\$428.00	\$0.85	\$181.90
54.	0710-11-123	Solid Traffic Stripe, Paint (White 12")	98.00	LF	. \$1.69	\$165.62	\$1.70	\$166.60	\$4.50	\$441.00	\$1.70	\$166.60
55.	0710-11-125	Solid Traffic Stripe, Paint (White 24")	132.00	LF	\$2.03	\$267.96	\$2.00	\$264.00	\$6.00	\$792.00	\$2.00	\$264.00
56.	0710-11-131	Skip Traffic Stripe, Paint (White 6")	80.00	LF	\$0.57	\$45.60	\$0.60	\$48.00	\$1.40	\$112.00	\$0.55	\$44.00
57.	0710-11-221	Pavement Messages, Paint	3.00	EA	\$44.94	\$134.82	\$45.00	\$135.00	\$250.00	\$750.00	\$45.40	\$136.20
58.	0710-11-170	Directional Arrow, Paint	11.00	EA	\$33.71	\$370.81	\$34.00	\$374.00	\$100.00	\$1,100.00	\$34.00	\$374.00
59.	0710-11-221	Solid Traffic Stripe, Paint (Yellow) (6")	672.00	LF	\$0.57	\$383.04	\$0.60	\$403.20	\$1.40	\$940.80	\$0.55	\$369.60
60.	0710-11-231	Skip, Traffic Stripe, Paint (Yellow) (6")	104.00	LF	\$0.57	\$59.28	\$0.60	\$62.40	\$1.40	\$145.60	\$0.55	\$57.20
		SUBTOTAL (SIGNING & MARKING ONLY)				\$2,836.27	2.1-1	\$2,883.10		\$6,299.80		\$2,824.10
TOTAL BASE BID - Based on Completion Time of 240 Calendar Days				\$240,757.87		\$317,874.95		\$333,765.05		\$360,811.35		
CONTRACT CONTINGENCY WORK (USED ONLY WITH COUNTY APPROVAL) 10%				10%	\$24,075.79	10%	\$31,787.50	10%	\$33,376.51	10%	\$36,081.14	
TOTAL C	TOTAL OFFER FOR BID with Contract Contingency - Based on Completion Time of 240 Calendar Days					\$264,833.66		\$349,662.45	_	\$367,141.56		\$396,892.49

Project Name:

SR 64 @ 57TH St East and Morgan Johnson Road Intersection Improvements

Project Number:

IFB# 15-2828-OV

IFB #15-2828-OV

SR 64 and Morgan Johnson Road Intersection (Roadway, Signalization, and Signing & Pavement Markings)

Project Name:	SR 64 and Morgan Johnson Road Intersection
FPID No.:	429871-1-58-01

Evaluated By:	
Darlo Carre	10/21/15
Daren Carriere, PE	Date

Michael Sturm, PE, Project Manager

Date

Approved By:

| Jacob | 10 | 22 | 15 |

Olga Valcich, Contract Specialist | Date

For

IFB #15-2828-OV

SR 64 and Morgan Johnson Road Intersection (Roadway, Signalization, and Signing & Pavement Markings)

Project Name:

SR 64 and Morgan Johnson Road Intersection

FPID No .:

429871-1-58-01

Evaluated By:

Daren Carriere, PE

Michael Sturm, PE, Project Manager

Approved By:

Olga Valcich, Contract Specialist